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00 0 | 1
1 0 1. 2
2a=1 K—>010§ 2 b#% ra #rA
0 0 0il1-2b
SN -1 2
X=HofFC o]+ 2| C
L, U 1 0

- 386



(M 0 O 0
) 0 ba-1 0
A—Dh 10 1
O ; b O
O {1 - 4b + 2ab]
wolimya1 ¢
o = 2b-1 1 _1-4b+2ab
t"pba-1 2" b ™ ba-1
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0 O Lk 2a 3pU
a 2b 3c
| Al = |b 2¢c 3a|=-ba+b+c- &+ +c-ab-bc-ca
c 2a 3b
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=2ac-b =-2aa+b +F¥ =- &+ + a+b? #0 * %
b 2c
* (PR PR
28"
29 0413
X, A% tuXs +% =0
2X X t X +2%, =0
X, + 2+A X+ d+u X +4x, =1
1 -11-1"T
1
2 X, = Xg .
1-11-1"T A=u A
A 2 1
1-11-1"7 A=p A
A
D1 A A 1EOD DlO -2\ 1-2a -A O
A=R 1 1 2i0 @ 1 3 1 i 1 H
(5 240 4+ 4i2H b o 220-1 2x-1i20-120
|jLOO 11501D
-1:-10
1 )\;é% A—»Eblo 2120 rA =rA =3<4
0 1110
Lol izt
_ -11 0+ ) ) T
x= 0 > 2O +k -21 12 k
o -1 +:210
A=L AU 2120 A =rA =2<4
2 M1 3 1i1f{
lbo o oiol
X = '21100T+|<11-310T+|<2-1-202T k, k,



X = X5 1 /\;é% X, = X3
_ - _ 1 _1 -11 .1 ) T
xz—x32+k—2k k—2 x—0220 +2 21 -12
= -1001".
,\:% X, = %, X, =% 1- 3k - 2k, =k klzi-;kz
-11 1 T -3-1-1_+«
= —_— +
X= 4 440tk 5 52 ke
ay+bx =c¢
1 cX+az=Db abc # 0
bz+cy = a
2. 3 a a, a, 3 a = 205 -1"
a+ta = 1996 ",
3. B B Ax=hb a, a, Ax=0
k, Kk AX=Db
- +
A ka, +k, a +a, +'[% B ka +k, a - a, +¥
Ck1a1+k2 B+ B +[¥ Dk1a1+k2 B - B +Bl-Tﬁz-
X, +X% +X% +% =0
" ab X, +2% +2%x, =1
- Xt a-3X%X-2x, =b
3X, +2% + X tax, =- L
X, % = A
5 A A, + X +2% = A +2
6X, + X, +4x, =21 +3
AX +X +X%X =0
6. X, +AX, +X =0 A
X, +% +X% =0
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